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Energy Efficiency Worksheet

A 240 V oven element draws 22 A of current.
&) Calculate the energy the element uses if it is cooking a turkey for 3.0
hours. P= VI = Quojirr) . s rBalW

Bt -(5189 (3)(6s) () = STOL 000 T

Q If the oven converted 37 065 000 J of that energy into heat, what is the
energy efficiency of the oven? EE= 27065002 ﬂ;’ b s %
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(@0 A 120 volt light bulb has a current of 0.833A running through it for 30
seconds.
‘2P How much electrical energy does it use in this time?

F=Pt = (1vo) (0.827) (20) = 1L112.8T

@ If the light bulb is 5% efficient at converting electrical energy to light
energy, how many joules of energy were actually used to light the room?

- P =
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@ How many joules of energy were lost as heat?

1668, —I999FN= 28v6.88 T

83 An electric saw draws 15 A of current while operating on 120 volts.
AYWhat is the power of the saw? Pz Vi = Gy N goa W~

BYIf the saw is operated for 3 minutes, calculate the energy used.

FeoGoo()bsrc 3271090 J

@If the saw is 85% efficient, how much energy is used to turn the blade?
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/) An outdoor floodlight has a power rating of 150 watts.
\{QCalcula're the current through the bulb if the voltage is 120 volts.
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) Calculate the total energy used by the bulb if it is left on for 10 hours
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EDIf the bulb converted 378 000 J of energy into light, what is the energy
efficiency of the light bulb? Ei = 3780 X({vo = -7 1
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&) An 18 W compact fluorescent light bulb is operating at a voltage of 120 V.
@Calculate the resistance of the bulb? ﬂ: VI L =~,.5. = __,/_fé, =0T A
f=Yo 1 = 9.0 n fes
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{ﬁ\ How much electrical energy (in joules) is used if the bulb operates for 5
hours? = = (¢ (1?)(;*)((»)/&) T 1Y onT

ﬁ If the bulb is 17% efficient, how much energy lights the room?
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A projector has a 500 W bulb in it.
How much energy does it use when it runs for a 75 minute Science period?
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@ If the bulb is 4% efficient, how much energy is lost as heat?
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